

# County of Fairfax, Virginia

To protect and enrich the quality of life for the people, neighborhoods, and diverse communities of Fairfax County

#### **Electoral Board**

Hon. Katherine K. Hanley

Chairman

Jeffrey K. Shapiro

Vice Chairman

Amb. (ret.) Christopher P. Henzel

Secretary

Eric L. Spicer General Registrar and Director of Elections

#### ELECTORAL BOARD MEETING

Date: April 12, 2023

Time: 4:00 p.m.

Location: Conference Room 315

#### **AGENDA**

- I. Call to Order, Welcome, and Introduction
- II. Adoption of the Agenda
- III. Approval of the Minutes
  - March 16, 2023
- IV. General Registrar's Report
- V. Electoral Board Reports
- VI. New Business
  - Resource Allocation for the June 20, 2023, Primary Election
- VII. Public Comment
- VIII. Closed Session for the following reason:
  - Specific personnel matters, as permitted by Va. Code § 2.2-3711(A)(1)
- IX. Adjourn

Voter Services
Phone: 703-222-0776
Fax: 703-324-2205
TTY: 711 (Virginia Relay)
Email: voting@fairfaxcounty.gov

Election Administration
Phone: 703-324-4735
Fax: 703-324-4706
TTY: 711 (Virginia Relay)
Email: elect@fairfaxcounty.gov

Fairfax County Office of Elections 12000 Government Center Parkway Suite 323 Fairfax, Virginia 22035 www.fairfaxcounty.gov/elections

# MINUTES Fairfax County Electoral Board March 16, 2023

The Fairfax County Electoral Board (Board) met on Thursday, March 16, 2023, in Conference Room 315 at the Fairfax County Government Center located at 12000 Government Center Parkway, Fairfax. Chairman Hon. Katherine K. Hanley; Vice Chairman Jeffrey K. Shapiro; Secretary Amb. (ret.) Christopher P. Henzel; General Registrar Eric L. Spicer; Deputy General Registrar Cheryl Jones; and Clerk to the Electoral Board Beth Dixon Methfessel were present.

IT Manager Cord Whitehouse; Election Operations Manager Ravi Udeshi; Election Equipment and Logistics Manager Tyrone Allen; Deputy Registrar for Voter Registration Bushra Ardalan; Deputy Registrar for Voter Satellite Offices Helen Chaikovsky; Deputy Registrar for Absentee Voting Sean Stewart; Supply Manager Kay Garrison;; Jean Thoensen (Office of Elections (Office) staff); Bryan Graham (Chairman, Fairfax County Democratic Committee (FCDC)); Dominic Thompson (FCDC Executive Director); Gregory Brandon (FCDC Central Communications); Richard Weiss (FCDC Voter Registration and Education); Maggi Luca (Fairfax, League of Women Voters (LWV)); Christine Brim (Fairfax County Republican Committee (FCRC) Election Integrity Task Force) and Barbara Palmer-Tengs (member FCRC); Office staff and/or rovers Jean Thoensen and Jill Mobley (Fairfax County election officers and/or residents of Fairfax County) also attended the meeting in person.

The following individuals participated using the Zoom videoconferencing platform: Human Resources Manager Yoon Choi-Lee; IT Business Analysts George Panagakos and Khamthakone Betts; FOIA Coordinator Pat Ferguson; Training Specialist Alina Selnick-Escobar; Office staff and/or rovers Steve Barch, Wesley Fontaine, Lisa Hogle, B. Gissell Jimenez, Gary Klinger, Bill Lewers, Kathryn Martin, Abigale Peters, and Todd Strelow; Carol Allen (FCDC Election Law and Voter Protection); Maria Vorel (FCDC Precinct Operations); Deb Wake (VA - LWV); Arina van Breda (Fairfax LWV); Mark Beale, William Denk, Phyllisa Goldenberg, John Kochka, David Lopez, Robert Presler, Debbie van Opstal, and Elizabeth Woodruff (Fairfax County election officers and/or residents of Fairfax County or neighboring jurisdictions).

Ms. Hanley called the meeting to order at 4:00 p.m. and introduced the Board. Mr. Henzel moved approval of the agenda, and the motion passed by a vote of 3-0. Mr. Henzel made a motion to adopt the Draft Minutes of the Board meeting held on February 1, 2023. Ms. Hanley asked that under Offices on the Ballot in Fairfax County in November 2023, "three members" be included in the description of School Board At Large and Soil and Water Conservation Directors. By a vote of 3-0, the Minutes of the Board meeting held on February 1, 2023, were adopted as amended.

Under the General Registrar's (GR) report dated March 15, 2023 (attached and made a part of this record), Mr. Spicer updated the voter registration numbers since the last Electoral Board meeting:

Page 1 of 6 March 16, 2023

Registered Voters	As of March 13, 2023	Change from 1/30			
Active registered voters	744,226	-1,698			
Inactive registered voters	35,694	-666			
TOTAL	779,920	-2,364			

<b>Registration Transactions</b>	(1/31 to 3/13)	Year-to-Date (1/1 to 3/13)
DMV online voter registration transactions	18,658	33,941
Web voter registration transactions	951	1,436
Third-party voter transactions	615	736
Other voter registration transactions	9,002	9,562
TOTAL	29,226	45,675

<b>Voter Cancellations</b>	March 2023 (1/31 to 3/13)	Year-to-Date (1/1 to 3/13)		
Deceased	298	736		
Out-of-state	4,449	4,685		
Other	98	6,814		
TOTAL	4,845	12,235		

The Virginia Department of Elections (ELECT) initiated two 2023 National Change of Address (NCOA) confirmation mailings. The first was sent to 40,851 Fairfax County voters on February 3, including 3,113 voters who informed the USPS that they moved within Fairfax County and 37,738 voters who moved out of Fairfax County.

As of March 13, the Office received a total of 18,785 pieces of mail from the confirmation mailing, including 13,800 pieces of returned undeliverable and 4,985 responses from voters that required action. Voters were changed to "Inactive" status if their confirmation mailing was returned undeliverable or they did not respond within thirty days. Due to issues that required ELECT to send a second confirmation mailing to some voters, the Office was informed that voters will not be changed to "Inactive" status until March 17. Ms. Hanley asked what issue led to the second mailing. Ms. Ardalan explained the insert of the mailing was inadvertently placed backwards in the envelope so the address could not be seen through the envelope window.

The following table summarizes the results of this mailing.

Actions Taken as of March 13, 2023	Quantity
Moved within Fairfax County - Address updated on voter list	300

Page 2 of 6 March 16, 2023

Moved within Virginia – Voter information mailed to other jurisdictions	125
Incomplete or deceased – List of voters' names sent to ELECT	118
Moved out of the state – Voters removed from the voter list	4,442
Undeliverable	13,800
TOTAL	18,785

After two federal elections, ELECT will provide a list of inactive voters to be removed from the voter rolls of the locality to which they were registered. Mr. Spicer also explained that ELECT adopted a new death notification (attached and made a part of this record) making it easier to remove deceased voters from the voter rolls. The form may only be completed by a specified relative, a personal representative of the deceased voter's estate, or a general registrar or deputy registrar who personally knows the voter to be deceased. A death notice is no longer required. ELECT also plans to research death notifications for the last sixty-two years.

At the Board of Supervisor's public hearing on March 7, 2023, after receiving no public comment, the Board of Supervisors approved the following precinct name changes:

Original name	New name
404 Franconia #1	404 Edison #1
432 Franconia #2	432 Edison #2
732 Oak Marr	732 Oaktree Crossing
924 Spindle #1	924 Spindle
935 Spindle #2	935 Robinson Mill

The Board of Supervisors also approved the following polling place changes that will take effect upon receipt of a Certification of No-Objection from the Attorney General:

- 1. Divide 731 Tysons precinct to create an additional precinct, 738 Jones Branch, which will vote at Providence Committee Meeting Room
- 2. Move polling places for three precincts:

Precinct	New Polling Place
731 Tysons	The Parc at Tysons
929 Difficult Run	U.U. Congregation of Fairfax Church
935 Spindle #2	Bull Run Elementary School

The Democratic Party called for an open primary for all districts and precincts in Fairfax County. At a minimum there will be one county-wide primary because two candidates have filed paperwork for the office of Commonwealth's Attorney. The Republican Party called for an open primary in the 33<sup>rd</sup> Senate District; the 14<sup>th</sup>, 17<sup>th</sup>, 18<sup>th</sup>, and 19<sup>th</sup> House of Delegates Districts; and the Springfield Magisterial District, encompassing a total of 100 precincts. If two Page **3** of **6**March 16, 2023

or more Republican candidates file for any of these offices, a dual primary will be conducted. Political parties have an April 11 deadline to certify their candidates with ELECT. Ballot artwork and the resource allocation for election officers, voting equipment, and ballots will be finalized when this information is received.

The Office will replace the county's nine-year old voting equipment to include precinct ballot tabulators, ADA-compliant ballot marking machines, mail ballot tabulators, and related software and peripheral equipment. The project will also include the purchase of electronic voter check-in devices to replace the Poll Pads which are leased through early 2025. All voting equipment must be certified by the State Board of Elections.

Partial funding for this replacement project was received in October 2022 as part of the budget carryover, and the second tranche of funding was provided as part of the county's third quarter funding process. The third tranche of funding will be requested during the carryover process in October 2023, which will complete funding for the replacement project.

Before selecting a vendor, the Office will conduct a thorough review process of both the voting equipment and the electronic check-in devices. This review process will begin with public demonstrations tentatively scheduled for July 27-28. A diverse group of individuals will be invited, including Electoral Board members, political party representatives, members of the Board of Supervisors, chief and assistant chief election officers, the Fairfax County Disability Rights and Resources Center, the Fairfax County branch of the NAACP, representatives of Asian and Korean languages groups, representatives from the county's budget office, Department of Information Technology (DIT), Department of Procurement and Material Management (DPMM), the County Attorney's Office, and other interested parties. A final decision is anticipated by December 2023 with the testing of the new voting equipment and electronic check-in devices by early 2025.

Pat Ferguson was promoted to the position of FOIA Coordinator/Candidate Services Manager, and Carmen Frisbee joined the Department as the new Human Resources Administrative Assistant.

Under the Chairman's report, Ms. Hanley explained that the Virginia Electoral Board Association (VEBA) will hold their annual conference March 24-27, where she will be lead a break-out discussion with the ten largest Virginia jurisdictions. She solicited topics that may affect voters from the meeting's participants.

There was no Vice Chairman's report.

Under the Secretary's report, Mr. Henzel expressed concern about the passage of HB 2471, a bill that amends the procedures for removing a general registrar. Whereas in the past an electoral board could remove a GR by a simple majority vote, HB 2471 now provides that an electoral board must petition the Circuit Court requesting that it remove the GR. The bill also provides for the assignment of counsel at the Commonwealth's expense to any general registrar subject to a removal petition. While Mr. Henzel expressed full confidence in Fairfax County's current GR, he noted that this legislation reduces local control and could be a problem in the future or in other jurisdictions. He concluded that because General Registrars now no longer

Page **4** of **6** March 16, 2023

serve at the pleasure of the EB, some General Registrars might feel less need to keep their EBs fully informed which will in turn mean less public transparency. Ms. Hanley agreed that the law changes the relationship between the EB and the General Registrar, and she commented that the removal process of a General Registrar now becomes public whereas before the passage of HB 2471 most personnel matters were protected from public scrutiny.

There was no New Business.

Under Public Comments, Ms. Hanley reminded the public that comments are limited to three minutes. The Board may provide the information; however, an answer may be deferred if more research is required.

Ms. Brim expressed concern that HB 1948 will allow a voter to provide their assigned voter registration unique identifier in place of the last four digits of their social security number. She commented that this number is provided on data lists that can be purchased from ELECT. She asked if the returned absentee ballots could be tracked based on the whether the voter provided the last four of the social security number or the voter registration number. She also requested that when provisional ballots are adjudicated, the final four digits of the SSN and the full date of birth be required even if a complete absentee ballot application or same day registration application has been provided. Mr. Shapiro agreed that tracking this information is important data to evaluate potential risk. Ms. Hanley commented that this bill has not yet been signed by the Governor.

Ms. Hanley confirmed to Ms. Vorel that the ballots will be available forty-five days prior to the June primary election.

There being no further business, Mr. Henzel moved to adjourn. The motion carried, and without objection, the meeting was adjourned at 4:35 p.m.

Hon. Katherine K. Hanley, Chairman

Jeffrey K. Shapiro, Vice Chairman

Amb. (ret.) Christopher P. Henzel, Secretary

Page 5 of 6 March 16, 2023

This page intentionally left blank.



Page **6** of **6** March 16, 2023



# County of Fairfax, Virginia

# GENERAL REGISTRAR'S REPORT

**DATE:** April 11, 2023

TO: Hon. Katherine K. Hanley, Chairman of the Fairfax County Electoral Board

Jeffrey K. Shapiro, Vice Chairman of the Fairfax County Electoral Board

Amb. (ret.) Christopher Henzel, Secretary of the Fairfax County Electoral Board

FROM: Eric L. Spicer, General Registrar and Director of the Office of Elections

**CC:** Beth Dixon Methfessel, Clerk to the Electoral Board

Office of Elections - All staff

**SUBJECT**: General Registrar's Report for the April 12, 2023, Electoral Board meeting

#### **Voter Registration**

Registered Voters	As of April 10, 2023	Change from 3/13
Active registered voters	715,007	-29,219
Inactive registered voters	65,933	+30,239
TOTAL	780,940	+1,020

Registration Transactions	March/April 2023 (3/13 to 4/10)	Year-to-Date (1/1 to 4/10)		
DMV online voter registration transactions	13,343	47,284		
Web voter registration transactions	515	1,951		
Third-party voter transactions	996	1,732		
Other voter registration transactions	1,090	10,652		
TOTAL	15,944	61,619		

Voter Cancellations	March/April 2023 (3/13 to 4/10)	Year-to-Date (1/1 to 4/10)			
Deceased	444	1,180			
Out-of-state	913	5,598			
Other	98	6,912			
TOTAL	1,455	13,690			

#### Confirmation Mailing – Sent by Virginia Department of Elections (ELECT)

As of April 10, we received a total of 20,312 pieces of mail from the confirmation mailing, including 14,305 pieces of returned undeliverable and 6,007 responses from voters that required action. A total of 30,239 voters were changed to an "Inactive" status because their confirmation mailing was returned undeliverable, or they did not respond within 30 days.

The following table summarizes the results of this mailing.

Actions Taken as of April 10, 2023	Quantity
Moved within Fairfax County - Address updated on voter list	365
Moved within Virginia – Voter information mailed to other jurisdictions	233
Incomplete – Reviewed by staff	136
Moved out of the state – Voters removed from the voter list	5,273
Undeliverable	14,305
TOTAL	20,312

#### New Procedures for Removing Deceased Individuals from the Voter List

The Virginia Department of Elections in Richmond (ELECT) recently issued an Advisory that provides localities with a new death lookup process through ELECT. In addition, ELECT has authorized General Registrars to use an obituary posted in a newspaper distributed within the locality or the website of a licensed funeral home to help confirm that an individual is deceased. This is a departure from ELECT's previous position that obituaries could not be used.

We will use these new tools in our continuing effort to improve the accuracy of the voter list. On April 3, we began matching obituaries with undeliverable mail that was returned by the relatives of deceased voters, and with this new process we have already removed 150 deceased voters from the voter list.

#### **Polling Place Changes**

On April 6, we received the Certification of No Objection from the Attorney General's office for the polling place and boundary changes that were adopted by the Board of Supervisors on March 7. We updated and implemented these changes in VERIS. We will send the required notifications to all affected voters.



#### Legislation – Absentee by Mail Voting (HB 1948) Amended by the Governor

HB 1948 as passed by the Senate and House removed the witness signature requirement on absentee ballot envelopes and replaced it with the last four digits of the voter's Social Security number and their full date of birth. It also allowed a voter to provide their assigned voter registration unique identifier in place of the last four digits of their Social Security number.

On March 27, after we provided information to the Commissioner of the Department of Elections in Richmond, the governor amended the bill to only require the birth year instead of the full date of birth and to only permit individuals who do not have a social security number to use their unique identifier assigned when they registered to vote. (Approximately 60 voters in Fairfax County do not have a Social Security number). The amended bill will be considered by the legislature when they reconvene on April 12.

#### June 2023 Primary Election

Based on the candidate filings submitted by the April 6 deadline, there will only be a Democratic Party primary election in Fairfax County, which will include county-wide races for Chairman of the Board of Supervisors, Sheriff, and Commonwealth's Attorney and contests in several districts for state Senate, House of Delegates, and Board of Supervisors.

#### **Absentee Applications**

As of April 10, we have **38,360** absentee ballot applications for the Democratic primary, including **37,265** permanent applications, **1,054** overseas applications, and **41** one-time applications.

#### **Early Voting**

In-person absentee/early voting will take place at 16 locations.

#### Friday, May 5 through Saturday, June 17, excluding Sundays

Fairfax County Government Center 8:00 a.m. to 4:30 p.m. weekdays

9:00 a.m. to 5:00 p.m. Saturday, June 10 and Saturday, June 17

Mount Vernon Governmental Center & 1:00 p.m. to 7:00 p.m. weekdays

North County Governmental Center 9:00 a.m. to 5:00p.m. Saturday, June 10 and Saturday, June 17

#### Saturday, June 10 through Saturday, June 17, excluding Sunday

**Thirteen additional locations** 1:00 p.m. to 7:00 p.m. on weekdays

9:00 a.m. to 5:00 p.m. on the two Saturdays



#### **Early Voting In-Person Absentee Satellites (Continued)**

The early voting locations will be staffed with 6 to 8 election officers, with the larger number during the final week. Since there is only a Democratic primary, the chief and assistant chief officers will represent the Democratic Party; the election officers will be a mix of Democratic party representatives and unaffiliated officers.

All locations will again produce paper ballots using the ballot-on-demand system, which has proven very successful. Each check-in station will be linked to its own ballot-on-demand printer, eliminating the need for a separate ballot officer. The Chief Officer will also have a ballot-on-demand printer for curbside and provisional voters. There will be no pre-printed paper ballots at the early voting locations. Chief and Assistant Chief officers will receive focused training on the processes for provisional ballots and same day registration.

#### **Resource Allocation for Satellites**

The attached resource allocation for satellites provides information on the allocation of Poll Pads, DS200s, ExpressVote accessible ballot marking machines, and ballot-on-demand printers for the satellite voting locations. This allocation includes ballot paper for the ballot-on-demand printers.

#### **Resource Allocation for Election Day**

For each election, we develop a resource allocation plan and order ballots based on comparable elections. In June 2019, average in-person turnout on Election Day was 9%, with a range of 2% to 26% in individual precincts. In June 2021, average in-person turnout on Election Day was also 9%, with a range of 1% to 22% in individual precincts.

For this election, each precinct will receive ballots for a minimum of 30% of registered voters. Some precincts, such as those with higher turnout in past elections or new precincts with no historical turnout information, will receive ballots for a minimum of 35% of registered voters.

Each precinct will receive 3 to 4 Poll Pads, 2 ExpressVote ballot marking devices, and 2 DS200 scanners. As in the primary election one year ago, precincts will be assigned 5 to 7 election officers.

#### **Election Officers**

#### **Election Officer Assignments**

We sent an availability email to election officers on April 10, and are reviewing the responses to make assignments, beginning with chiefs, assistant chiefs, and language officers. We will contact assigned election officers in May to confirm their precinct assignments.



#### **Election Officers (continued)**

As this is a single-party Democratic primary, we are assigning only Democratic party representatives and unaffiliated officers in all precincts. All chiefs and assistant chiefs will represent the Democratic party. A small number of language officers, who are assigned without regard for party affiliation, may represent the Republican party.

All precincts will have one officer designated as an SDR specialist to assist with processing same-day-registration voters. As turnout is typically much lower in primary elections, the Chief or Assistant Chief will be the designated SDR specialist in most precincts. (In the next general election, we expect to assign a separate SDR specialist in all precincts.)

#### **Election Officer Training**

All officers assigned for this election will need to complete the Election Officer Basics training class, as required by law before their first election of a new appointment term. This training will be offered online beginning in late April. Any first-time officers will also be required to attend an inperson equipment practice session.

Individuals designated as SDR specialists will be required to complete a specialized same-day-registration training class. We are preparing an interactive online class to give SDR specialists an opportunity to learn and practice various scenarios.

Chiefs and Assistant Chiefs, who must meet all other election officer training requirements, are required to complete the Chiefs Briefing the week before the election. The Chiefs Briefing for this election will be conducted as a live Zoom session, with an opportunity for questions-and-answers immediately afterwards.

#### **Logic and Accuracy Test -- Poll Pad Check-in Devices**

The logic and accuracy test for Poll Pads will be conducted in the Government Center, 12000 Government Center Parkway, Fairfax VA, Suite 251 as follows:

**Thursday, April 20, 9:00 a.m.** For use in early voting locations **Sunday, June 18, 9 a.m.** For use in Election Day polling places

#### **Testing includes:**

- Running a wireless sync from ePulse in the Poll Pad application.
- Verifying that the voter file successfully updated and countywide records match.
- Powering off the Poll Pad device and returning the device to its matching case.
- Matching the Poll Pad case number and device.



**Tuesday, June 20, 5:00 a.m.** Election day polling places – Poll Pad crosscheck. Election officers will complete a crosscheck form to verify that their Poll Pads are set up properly.

#### **Logic and Accuracy Testing**

Logic and Accuracy Testing Schedule for the June 2023 Democratic Party primary election:

**Beginning 9:00 a.m. each day:** The tests for all but the DS850s will be conducted at the Morrissette Warehouse, 8600 Morrissette Drive, Springfield, Virginia.

April 25-26: Voting equipment for three (45-Day) Satellite Voting locations.

May 9-12: Voting equipment for remaining 13 (10-Day) satellite voting locations.

May 9-26: Voting equipment for Election Day precincts.

**May 24-25:** DS850s (used to count mail ballots) Fairfax Government Center, 12000 Government Center Parkway, Suite 339, Fairfax, VA.

#### **Office Personnel**

After more than five years of distinguished service as the Election Officer Manager and the Election Operations Manager, Ravi Udeshi was hired as Election Manager effective April 8, 2023.

Regrettably, Alina Selnick-Escobar is resigning from her position as Election Officer Training & Operations Coordinator effective April 21 to pursue other opportunities. Alina has been an exceptional member of the Office of Elections team and it will be hard to fill her shoes. We are recruiting to fill the position.

We are also recruiting for the Election Officer Manager position.

#### **VFOIA**

Between March 13 and April 10, we received 6 VFOIA requests.

#### **VFOIA Request for Cast Vote Records**

In the past, we have received VFOIA requests for cast vote records (CVR), which we did not release due to security concerns. State law prohibits the release of ballot images or the access to voted ballots, and we had understood that CVRs should not be released because they represent an electronic record of the information from voted ballots.



#### **VFOIA Request for Cast Vote Records (Continued)**

ELECT has recently advised localities that they should release CVRs in certain circumstances. Following this guidance, we released CVRs for the 2020, 2021, and 2022 general elections in response to a VFOIA request. As part of our response, we provided information about our election management system, election results reporting, and cast vote records to explain our process and the relationship of cast vote records to election results. We will provide this with any future VFOIA requests for CVRs. The following is some of the information that we provided with this response.

#### **Election Management System**

In Fairfax County, we have an election management system that we use to set up and design ballots for each election and to program USB flash drives with election data for use with the logic and accuracy testing process and the actual voting process. The election flash drives can also be uploaded into the election management system but that is not a requirement, and it was not the practice or procedure to do so in elections prior to November 2021.

#### **Election Results Reporting**

Prior to November 2021, election results were called in by election officers at Election Day precincts, in-person absentee satellites, and for the mail absentee results. Those unofficial results were reported on election night and in the days following the election and they were double-checked against the machine tapes. Election data was also reflected on flash drives that were turned over to the Circuit Court for a 30-day period after the election and on the ballots that were turned over to the Circuit Court. We have confirmed that (as of April 10) the Circuit Court still has the ballots for 2020, 2021, and 2022.

Beginning in November 2021, we started using the information from election flash drives to report election results. While this is not a legal requirement, we determined that this was the best, most accurate method for reporting election results.

#### **Cast Vote Records**

Cast vote records represent the raw data for all votes on election flash drives that are electronically loaded into the election management system. Hand counted ballots can be manually entered into the election management system, but they will not be reflected as cast vote records. Cast vote records are reflected in random order and a cast vote record cannot be directly linked to a voter. There is no legal requirement to use cast vote records in the election results reporting process and we have never done so.



#### Turnout Statistics Posted in ELECT's Official Results for November 2022 and January 2023

On March 13, we informed ELECT that the turnout statistics posted in their official results for the November 2022 General Election and January 2023 Special Election appear to be incomplete in that they exclude all Same Day Registration (SDR) provisional ballots. ELECT assured us that their IT department was working to address the issue.

ELECT provided an update that a VERIS fix deployed on March 21 "will ensure SDR provisional counts are included on the Turnout Statistics page on the Election Night Reporting website." ELECT clarified that the turnout statistics reporting fix will not apply, retroactively, to previously posted election results.



			Julie	20, 2023 PI	_		Technet IV	esoui ce	Allocation					
				Jun 2019	Active									
				In-Person	Reg	Ballot	% of Reg	Ballot		Ballot	Poll	Express	DS200	Election
CD SEN HOD	DISTRICT	PCT		Turnout %	Voters	Order %	Voters	Order	Ballot Packs		Pads		Scanners	Officers
11 35 14	1 - Braddock		CHAPEL	17.2%	2,432	35%	851	1,000	5 x 200	1	4	2	2	6
11 33 15	1 - Braddock		FAIRVIEW	11.9%	4,716	30%	1,415	1,400	7 x 200	2	4	2	2	7
8 35 14	1 - Braddock	106	HERITAGE	7.5%	3,948	30%	1,184	1,200	6 x 200	1	4	2	2	7
11 35 15	1 - Braddock	108	KINGS PARK	13.9%	3,139	30%	942	1,000	5 x 200	1	4	2	2	6
11 35 15	1 - Braddock	109	LITTLE RUN	15.0%	1,615	30%	485	600	3 x 200	1	3	2	2	6
8 35 18	1 - Braddock	110	NORTH SPRINGFIELD	13.5%	4,288	30%	1,286	1,400	7 x 200	2	4	2	2	7
11 35 14	1 - Braddock	113	CANTERBURY	14.4%	3,785	30%	1,136	1,200	6 x 200	1	4	2	2	7
11 35 15	1 - Braddock	114	OLDE CREEK	13.8%	2,257	30%	677	800	4 x 200	1	4	2	2	6
11 35 14	1 - Braddock	115	RAVENSWORTH	14.9%	1,789	30%	537	600	3 x 200	1	3	2	2	6
11 35 14	1 - Braddock	116	WAKEFIELD	16.1%	2,304	35%	806	800	4 x 200	1	4	2	2	6
11 35 15	1 - Braddock	117	WOODSON #1	10.9%	1,955	30%	587	600	3 x 200	1	3	2	2	6
11 35 15	1 - Braddock	118	LAKE BRADDOCK	11.0%	4,132	30%	1,240	1,400	7 x 200	2	4	2	2	7
11 35 10	1 - Braddock	119	LAUREL	11.8%	3,989	30%	1,197	1,200	6 x 200	1	4	2	2	7
11 35 10	1 - Braddock	120	SIDEBURN #1	12.5%	1,047	30%	314	400	2 x 200	1	3	2	2	6
11 35 11	1 - Braddock	121	VILLA	10.5%	2,074	30%	622	800	4 x 200	1	4	2	2	6
11 35 10	1 - Braddock	123	ROBINSON	11.4%	4,304	30%	1,291	1,400	7 x 200	2	4	2	2	7
11 35 15	1 - Braddock	125	SIGNAL HILL	14.9%	3,157	30%	947	1,000	5 x 200	1	4	2	2	6
11 36 10	1 - Braddock	126	BONNIE BRAE	13.1%	2,419	30%	726	800	4 x 200	1	4	2	2	6
11 33 15	1 - Braddock	127	BURKE CENTRE	9.5%	4,555	30%	1,367	1,400	7 x 200	2	4	2	2	7
11 35 18	1 - Braddock	128	CARDINAL	14.3%	2,358	30%	707	800	4 x 200	1	4	2	2	6
11 35 18	1 - Braddock	129	KEENE MILL	13.8%	1,771	30%	531	600	3 x 200	1	3	2	2	6
11 33 15	1 - Braddock	130	TERRA CENTRE	11.3%	2,355	30%	707	800	4 x 200	1	4	2	2	6
11 36 11	1 - Braddock	131	EAGLE VIEW #1	6.6%	1,773	30%	532	600	3 x 200	1	3	2	2	6
11 36 11	1 - Braddock	132	MONUMENT	4.4%	4,746	30%	1,424	1,600	8 x 200	2	4	2	2	7
11 35 11	1 - Braddock	134	UNIVERSITY	1.6%	1,815	30%	545	600	3 x 200	1	3	2	2	6
11 35 18	1 - Braddock	135	IRVING	-	2,642	35%	925	1,000	5 x 200	1	4	2	2	6
11 35 11	1 - Braddock	136	WOODSON #2	-	1,041	35%	364	400	2 x 200	1	3	2	2	6
11 36 10	1 - Braddock	137	SIDEBURN #2	-	2,004	35%	701	800	4 x 200	1	4	2	2	6
11 36 10	1 - Braddock	138	EAGLE VIEW #2	-	1,937	35%	678	800	4 x 200	1	3	2	2	6

	DISTRICT PCT - Hunter Mill 201	PRECINCT	Jun 2019 In-Person	Active									
		DRECINCT		Reg	Ballot	% of Reg	Ballot		<b>Ballot</b>	Poll	Express	DS200	Election
11 38 7 2-	Huntor Mill 201	PRECINCI	Turnout %	Voters	Order %	Voters	Order	<b>Ballot Packs</b>	Boxes	Pads	Votes	Scanners	Officers
	- Hullter Willi 201	ARMSTRONG	13.3%	3,606	30%	1,082	1,200	6 x 200	1	4	2	2	7
11 38 6 2-	- Hunter Mill 202	FLINT HILL #1	10.7%	1,505	30%	452	600	3 x 200	1	3	2	2	6
11 36 8 2-	- Hunter Mill 203	FLORIS	8.0%	3,835	30%	1,151	1,200	6 x 200	1	4	2	2	7
11 37 12 2-	- Hunter Mill 204	MADISON	8.2%	988	30%	296	400	2 x 200	1	3	2	2	5
11 38 7 2-	- Hunter Mill 208	RESTON #1	13.8%	4,284	30%	1,285	1,400	7 x 200	2	4	2	2	7
11 38 7 2-	- Hunter Mill 209	RESTON #2	14.6%	3,850	30%	1,155	1,200	6 x 200	1	4	2	2	7
11 37 12 2-	- Hunter Mill 213	VIENNA #1	11.7%	4,204	30%	1,261	1,400	7 x 200	2	4	2	2	7
11 37 12 2-	- Hunter Mill 214	VIENNA #2	10.1%	3,296	30%	989	1,000	5 x 200	1	4	2	2	6
11 37 12 2-	- Hunter Mill 216	VIENNA #4	8.4%	1,609	30%	483	600	3 x 200	1	3	2	2	6
11 37 12 2-	- Hunter Mill 218	VIENNA #6	12.9%	2,424	30%	727	800	4 x 200	1	4	2	2	6
11 37 12 <b>2</b> -	- Hunter Mill 219	WESTBRIAR #1	8.8%	1,942	30%	583	600	3 x 200	1	3	2	2	6
11 38 7 2-	- Hunter Mill 220	DOGWOOD	10.6%	4,324	30%	1,297	1,400	7 x 200	2	4	2	2	7
11 38 7 2-	- Hunter Mill 221	HUNTERS WOODS	19.0%	2,721	35%	952	1,000	5 x 200	1	4	2	2	6
11 38 7 2-	- Hunter Mill 222	RESTON #3	19.9%	2,136	35%	748	800	4 x 200	1	4	2	2	6
11 38 7 2-	- Hunter Mill 223	GLADE	17.9%	3,644	35%	1,275	1,400	7 x 200	2	4	2	2	7
11 38 7 2-	- Hunter Mill 224	SOUTH LAKES	18.2%	4,486	35%	1,570	1,600	8 x 200	2	4	2	2	7
11 38 7 2-	- Hunter Mill 225	HUGHES	14.5%	3,857	30%	1,157	1,200	6 x 200	1	4	2	2	7
11 38 6 2-	- Hunter Mill 226	WOLFTRAP	13.2%	3,497	30%	1,049	1,200	6 x 200	1	4	2	2	6
11 38 7 2-	- Hunter Mill 227	SUNRISE VALLEY #1	16.2%	1,988	35%	696	800	4 x 200	1	3	2	2	6
11 36 8 2-	- Hunter Mill 229	FOX MILL #1	12.1%	3,977	30%	1,193	1,200	6 x 200	1	4	2	2	7
11 38 7 <b>2</b> -	- Hunter Mill 233	NORTH POINT	11.3%	2,478	30%	743	800	4 x 200	1	4	2	2	6
11 38 7 <b>2</b> -	- Hunter Mill 234	ALDRIN	16.0%	2,805	35%	982	1,000	5 x 200	1	4	2	2	6
11 38 8 2-	- Hunter Mill 235	FRYING PAN	7.3%	3,115	30%	935	1,000	5 x 200	1	4	2	2	6
11 38 7 <b>2</b> -	- Hunter Mill 236	STUART	13.6%	1,390	30%	417	400	2 x 200	1	3	2	2	6
11 38 8 2-	- Hunter Mill 237	MCNAIR	5.2%	4,010	30%	1,203	1,200	6 x 200	1	4	2	2	7
11 38 7 2-	- Hunter Mill 238	CAMERON GLEN	7.3%	4,119	30%	1,236	1,400	7 x 200	2	4	2	2	7
11 38 6 2-	- Hunter Mill 240	COLVIN	10.6%	2,452	30%	736	800	4 x 200	1	4	2	2	6
11 37 11 2-	- Hunter Mill 241	FLINT HILL #2	-	1,483	35%	519	600	3 x 200	1	3	2	2	6
11 38 6 2-	- Hunter Mill 242	WESTBRIAR #2	-	1,719	35%	602	600	3 x 200	1	3	2	2	6
11 38 6 2-	- Hunter Mill 243	SUNRISE VALLEY #2	-	1,040	35%	364	400	2 x 200	1	3	2	2	6
11 37 7 2-	- Hunter Mill 244	FOX MILL #2	-	525	35%	184	200	1 x 200	1	3	2	2	5
11 38 6 2-	- Hunter Mill 245	PINEY RUN	-	1,059	35%	371	400	2 x 200	1	3	2	2	6

		Gai	le 20, 2025 F1			Toomotiv	Coouroc	Anoution					
			Jun 2019	Active	- U -		- " .			- "	_	50000	
CD CEN HOD	DISTRICT	DOT DDECIMAL	In-Person	Reg	Ballot	% of Reg	Ballot	Delles Desiles	Ballot	Poll	Express	DS200	Election
CD SEN HOD	DISTRICT	PCT PRECINCT	Turnout %	Voters	Order %	Voters	Order	Ballot Packs		Pads	Votes	Scanners	Officers
8 38 6	3 - Dranesville	301 CHAIN BRIDGE	8.2%	3,579	30%	1,074	1,200	6 x 200	1	4	2	2	7
8 38 6	3 - Dranesville	302 CHESTERBROOK	13.7%	2,684	30%	805	800	4 x 200	1	4	2	2	6
8 38 6	3 - Dranesville	303 CHURCHILL	12.8%	1,622	30%	487	600	3 x 200	1	3	2	2	6
11 38 6	3 - Dranesville	304 COOPER	6.5%	2,350	30%	705	800	4 x 200	1	4	2	2	6
8 38 6	3 - Dranesville	305 EL NIDO	13.7%	2,400	30%	720	800	4 x 200	1	4	2	2	6
11 38 6	3 - Dranesville	306 GREAT FALLS	8.8%	2,129	30%	639	800	4 x 200	1	4	2	2	6
8 38 6	3 - Dranesville	307 HAYCOCK	13.3%	3,896	30%	1,169	1,200	6 x 200	1	4	2	2	7
11 38 6	3 - Dranesville	309 KENMORE	7.8%	4,018	30%	1,205	1,200	6 x 200	1	4	2	2	7
8 38 6	3 - Dranesville	310 KIRBY	10.2%	2,186	30%	656	800	4 x 200	1	4	2	2	6
8 38 6	3 - Dranesville	311 LANGLEY	10.1%	2,088	30%	626	800	4 x 200	1	4	2	2	6
8 38 6	3 - Dranesville	312 LONGFELLOW	9.1%	2,578	30%	773	800	4 x 200	1	4	2	2	6
8 38 6	3 - Dranesville	314 MCLEAN	10.4%	2,736	30%	821	1,000	5 x 200	1	4	2	2	6
8 37 13	3 - Dranesville	315 PIMMIT	6.2%	3,313	30%	994	1,000	5 x 200	1	4	2	2	6
8 38 6	3 - Dranesville	316 SALONA	12.7%	2,760	30%	828	1,000	5 x 200	1	4	2	2	6
8 37 13	3 - Dranesville	317 WESTHAMPTON	10.2%	966	30%	290	400	2 x 200	1	3	2	2	5
8 38 6	3 - Dranesville	318 WESTMORELAND	11.3%	1,504	30%	451	600	3 x 200	1	3	2	2	6
11 38 8	3 - Dranesville	319 HERNDON #1	8.1%	4,075	30%	1,223	1,400	7 x 200	2	4	2	2	7
11 38 8	3 - Dranesville	320 HERNDON #2	7.1%	4,262	30%	1,279	1,400	7 x 200	2	4	2	2	7
11 38 7	3 - Dranesville	321 CLEARVIEW	7.6%	3,963	30%	1,189	1,200	6 x 200	1	4	2	2	7
11 38 6	3 - Dranesville	322 FORESTVILLE	7.7%	3,277	30%	983	1,000	5 x 200	1	4	2	2	6
11 38 6	3 - Dranesville	323 SHOUSE	12.1%	2,279	30%	684	800	4 x 200	1	4	2	2	6
11 38 8	3 - Dranesville	324 HERNDON #3	6.0%	3,815	30%	1,145	1,200	6 x 200	1	4	2	2	7
11 38 8	3 - Dranesville	325 HUTCHISON	5.4%	2,333	30%	700	800	4 x 200	1	4	2	2	6
11 38 7	3 - Dranesville	327 SUGARLAND	7.8%	3,565	30%	1,070	1,200	6 x 200	1	4	2	2	7
11 38 6	3 - Dranesville	328 HICKORY	7.1%	3,404	30%	1,021	1,200	6 x 200	1	4	2	2	6
11 38 6	3 - Dranesville	329 SENECA	8.4%	3,521	30%	1,056	1,200	6 x 200	1	4	2	2	7
11 38 6	3 - Dranesville	331 SPRING HILL	11.0%	2,311	30%	693	800	4 x 200	1	4	2	2	6
11 38 8	3 - Dranesville	332 COATES	3.5%	4,864	30%	1,459	1,600	8 x 200	2	4	2	2	7
				,		,	, -						

			- Juli	e 20, 2025 F1			Toomotiv	Coouroc	Anouation					
				Jun 2019	Active									
				In-Person	Reg	Ballot	% of Reg	Ballot		Ballot	Poll	Express	DS200	Election
CD SEN HOD	DISTRICT	PCT	PRECINCT	Turnout %	Voters	Order %	Voters	Order	Ballot Packs		Pads	Votes	Scanners	Officers
8 34 17	4 - Lee		BUSH HILL	12.1%	3,317	30%	995	1,000	5 x 200	1	4	2	2	6
8 34 17	4 - Lee	402	CAMERON	8.2%	1,173	30%	352	400	2 x 200	1	3	2	2	6
11 35 17	4 - Lee	403	FORESTDALE	11.8%	1,382	30%	415	400	2 x 200	1	3	2	2	6
8 34 17	4 - Lee	404	EDISON #1	7.5%	1,799	30%	540	600	3 x 200	1	3	2	2	6
8 34 16	4 - Lee	405	GROVETON	7.3%	2,006	30%	602	600	3 x 200	1	4	2	2	6
8 34 17	4 - Lee	406	HAYFIELD	13.5%	2,332	30%	700	800	4 x 200	1	4	2	2	6
8 34 17	4 - Lee	408	MOUNT EAGLE	12.5%	2,664	30%	799	800	4 x 200	1	4	2	2	6
11 35 17	4 - Lee	409	PIONEER	6.3%	3,974	30%	1,192	1,200	6 x 200	1	4	2	2	7
8 34 17	4 - Lee	410	ROSE HILL	8.3%	4,654	30%	1,396	1,400	7 x 200	2	4	2	2	7
8 34 17	4 - Lee	411	VIRGINIA HILLS	9.6%	2,372	30%	712	800	4 x 200	1	4	2	2	6
8 34 16	4 - Lee	413	FAIRFIELD	4.9%	2,738	30%	821	1,000	5 x 200	1	4	2	2	6
11 35 18	4 - Lee	415	CRESTWOOD	10.3%	2,831	30%	849	1,000	5 x 200	1	4	2	2	6
11 35 18	4 - Lee	417	GARFIELD	5.8%	3,938	30%	1,181	1,200	6 x 200	1	4	2	2	7
11 35 18	4 - Lee	418	LYNBROOK #1	8.4%	2,071	30%	621	800	4 x 200	1	4	2	2	6
11 34 17	4 - Lee	419	LANE	8.0%	2,450	30%	735	800	4 x 200	1	4	2	2	6
8 34 17	4 - Lee	420	VILLAGES	9.0%	4,570	30%	1,371	1,400	7 x 200	2	4	2	2	7
8 34 17	4 - Lee	421	KINGSTOWNE	6.8%	3,529	30%	1,059	1,200	6 x 200	1	4	2	2	7
11 34 17	4 - Lee	422	VAN DORN	8.0%	3,645	30%	1,094	1,200	6 x 200	1	4	2	2	7
8 34 17	4 - Lee	423	CLERMONT	12.9%	2,728	30%	818	800	4 x 200	1	4	2	2	6
8 34 16	4 - Lee	424	HUNTLEY	12.9%	2,619	30%	786	800	4 x 200	1	4	2	2	6
11 35 18	4 - Lee	426	GREENSPRING	24.6%	1,640	40%	656	800	4 x 200	1	3	2	2	6
11 34 17	4 - Lee	427	ISLAND CREEK	10.4%	2,698	30%	809	800	4 x 200	1	4	2	2	6
8 34 16	4 - Lee	428	PINEWOOD	7.5%	3,309	30%	993	1,000	5 x 200	1	4	2	2	6
8 34 16	4 - Lee	429	HYBLA VALLEY	5.6%	3,578	30%	1,073	1,200	6 x 200	1	4	2	2	7
11 35 18	4 - Lee	431	WEST SPRINGFIELD	-	2,991	35%	1,047	1,200	6 x 200	1	4	2	2	6
11 34 17	4 - Lee	432	EDISON #2	-	3,328	35%	1,165	1,200	6 x 200	1	4	2	2	6
8 35 18	4 - Lee	433	LYNBROOK #2	-	185	35%	65	200	1 x 200	1	3	2	2	5

			June 20, 2023 Pi	-	ection - i	Tecinet i	esource	Anocation					
			Jun 2019	Active	D-II-+	0/ -f D	D-II-4		D-U-A	D-11	F	DC200	Floriton
CD CEN HOD	DISTRICT	PCT PRECINCT	In-Person	Reg	Ballot	% of Reg	Ballot	Dallat Daeke	Ballot	Poll	Express	DS200	Election
CD SEN HOD 8 39 4	DISTRICT		Turnout %	Voters	Order %	Voters	Order	Ballot Packs		Pads		Scanners	Officers
	5 - Mason	501 BAILEYS	12.5%	3,555	30%	1,067	1,200	6 x 200	1	4	2	2	7
8 35 13	5 - Mason	502 BARCROFT	25.9%	1,387	40%	555	600	3 x 200	1	3	2	2	6
8 35 13	5 - Mason	503 BELVEDERE	18.2%	1,684	35%	589	600	3 x 200	1	3	2	2	6
8 35 14	5 - Mason	504 BRISTOW	6.5%	2,759	30%	828	1,000	5 x 200	1	4	2	2	6
8 39 4	5 - Mason	505 GLEN FOREST	10.2%	3,063	30%	919	1,000	5 x 200	1	4	2	2	6
8 39 4	5 - Mason	506 HOLMES	7.7%	769	30%	231	400	2 x 200	1	3	2	2	5
8 35 14	5 - Mason	507 LINCOLNIA	10.2%	3,395	30%	1,019	1,000	5 x 200	1	4	2	2	6
8 35 14	5 - Mason	508 MASONVILLE	12.2%	2,152	30%	646	800	4 x 200	1	4	2	2	6
8 39 4	5 - Mason	509 PLAZA	16.4%	1,019	35%	357	400	2 x 200	1	3	2	2	6
8 35 14	5 - Mason	510 PARKLAWN	12.8%	2,298	30%	689	800	4 x 200	1	4	2	2	6
8 35 13	5 - Mason	511 RAVENWOOD	19.1%	1,714	35%	600	600	3 x 200	1	3	2	2	6
8 37 13	5 - Mason	512 SLEEPY HOLLOW	18.2%	3,167	35%	1,108	1,200	6 x 200	1	4	2	2	6
8 35 14	5 - Mason	513 SAINT ALBANS	13.2%	2,592	30%	778	800	4 x 200	1	4	2	2	6
8 39 4	5 - Mason	514 CROSSROADS	17.4%	1,178	35%	412	400	2 x 200	1	3	2	2	6
8 37 13	5 - Mason	515 WESTLAWN	12.4%	1,799	30%	540	600	3 x 200	1	3	2	2	6
8 35 14	5 - Mason	516 WEYANOKE	8.8%	3,301	30%	990	1,000	5 x 200	1	4	2	2	6
8 39 4	5 - Mason	517 WILLSTON	9.3%	1,875	30%	563	600	3 x 200	1	3	2	2	6
8 35 14	5 - Mason	518 COLUMBIA	6.7%	2,809	30%	843	1,000	5 x 200	1	4	2	2	6
8 35 14	5 - Mason	519 HUMMER	8.1%	2,109	30%	633	800	4 x 200	1	4	2	2	6
8 39 4	5 - Mason	520 SKYLINE	8.1%	2,502	30%	751	800	4 x 200	1	4	2	2	6
8 35 14	5 - Mason	521 BROOK HILL	8.8%	2,303	30%	691	800	4 x 200	1	4	2	2	6
11 35 14	5 - Mason	522 CAMELOT	10.2%	2,089	30%	627	800	4 x 200	1	4	2	2	6
8 35 14	5 - Mason	523 POE	11.6%	2,806	30%	842	1,000	5 x 200	1	4	2	2	6
8 37 13	5 - Mason	525 WALNUT HILL	11.2%	3,517	30%	1,055	1,200	6 x 200	1	4	2	2	7
8 35 14	5 - Mason	526 BREN MAR	8.6%	3,650	30%	1,095	1,200	6 x 200	1	4	2	2	7
8 35 18	5 - Mason	527 EDSALL	10.6%	2,238	30%	671	800	4 x 200	1	4	2	2	6
11 35 12	5 - Mason	528 RIDGELEA	10.9%	581	30%	174	200	1 x 200	1	3	2	2	5
8 35 13	5 - Mason	530 TRIPPS	14.7%	1,789	30%	537	600	3 x 200	1	3	2	2	6
8 37 13	5 - Mason	535 FORT BUFFALO	-	2,057	35%	720	800	4 x 200	1	4	2	2	6
8 35 14	5 - Mason	536 WOODBURN	-	1,340	35%	469	600	3 x 200	1	3	2	2	6
				_,					_	_			

			Jun 2019	Active									
			In-Person	Reg	Ballot	% of Reg	Ballot		Ballot	Poll	Express	DS200	Election
CD SEN HOD	DISTRICT	PCT PRECINCT	Turnout %	Voters	Order %	Voters	Order	Ballot Packs		Pads	Votes	Scanners	Officers
8 34 16	6 - Mount Vernon	601 BELLE HAVEN	7.3%	2,448	30%	734	800	4 x 200	1	4	2	2	6
8 34 16	6 - Mount Vernon	602 BELLEVIEW	9.5%	2,086	30%	626	800	4 x 200	1	4	2	2	6
8 34 16	6 - Mount Vernon	604 BUCKNELL	7.1%	3,744	30%	1,123	1,200	6 x 200	1	4	2	2	7
8 34 16	6 - Mount Vernon	605 FORT HUNT	11.4%	2,424	30%	727	800	4 x 200	1	4	2	2	6
8 34 16	6 - Mount Vernon	606 HOLLIN HALL	12.9%	2,761	30%	828	1,000	5 x 200	1	4	2	2	6
8 34 17	6 - Mount Vernon	607 HUNTINGTON	8.2%	3,844	30%	1,153	1,200	6 x 200	1	4	2	2	7
8 34 16	6 - Mount Vernon	608 KIRKSIDE	14.0%	2,071	30%	621	800	4 x 200	1	4	2	2	6
8 34 16	6 - Mount Vernon	609 MARLAN	10.4%	2,323	30%	697	800	4 x 200	1	4	2	2	6
8 34 16	6 - Mount Vernon	610 SHERWOOD	9.7%	2,306	30%	692	800	4 x 200	1	4	2	2	6
8 34 16	6 - Mount Vernon	611 STRATFORD	11.9%	3,056	30%	917	1,000	5 x 200	1	4	2	2	6
8 34 16	6 - Mount Vernon	612 WAYNEWOOD	10.7%	1,362	30%	409	400	2 x 200	1	3	2	2	6
8 34 16	6 - Mount Vernon	613 WESTGATE	7.0%	3,296	30%	989	1,000	5 x 200	1	4	2	2	6
8 34 16	6 - Mount Vernon	614 RIVERSIDE	10.2%	2,126	30%	638	800	4 x 200	1	4	2	2	6
8 34 16	6 - Mount Vernon	615 WOODLEY	7.2%	3,018	30%	905	1,000	5 x 200	1	4	2	2	6
8 34 19	6 - Mount Vernon	616 GUNSTON	8.4%	2,363	30%	709	800	4 x 200	1	4	2	2	6
11 34 19	6 - Mount Vernon	617 LORTON	4.6%	3,788	30%	1,136	1,200	6 x 200	1	4	2	2	7
11 33 18	6 - Mount Vernon	618 NEWINGTON #1	6.2%	2,236	30%	671	800	4 x 200	1	4	2	2	6
8 34 17	6 - Mount Vernon	621 GROSVENOR	4.7%	2,408	30%	722	800	4 x 200	1	4	2	2	6
11 34 19	6 - Mount Vernon	622 LORTON STATION	4.4%	3,849	30%	1,155	1,200	6 x 200	1	4	2	2	7
11 34 18	6 - Mount Vernon	623 ALBAN	6.0%	2,888	30%	866	1,000	5 x 200	1	4	2	2	6
8 34 16	6 - Mount Vernon	627 WOODLAWN #1	5.2%	1,971	30%	591	600	3 x 200	1	3	2	2	6
11 34 18	6 - Mount Vernon	628 LAUREL HILL #1	4.4%	3,280	30%	984	1,000	5 x 200	1	4	2	2	6
11 34 18	6 - Mount Vernon	629 SOUTH COUNTY	6.6%	2,385	30%	716	800	4 x 200	1	4	2	2	6
11 34 18	6 - Mount Vernon	630 ARMY	11.6%	2,244	30%	673	800	4 x 200	1	4	2	2	6
11 34 19	6 - Mount Vernon	631 POHICK CREEK	-	2,326	35%	814	800	4 x 200	1	4	2	2	6
11 33 15	6 - Mount Vernon	632 HALLEY #1	-	1,086	35%	380	400	2 x 200	1	3	2	2	6
11 33 18	6 - Mount Vernon	633 HALLEY #2	-	329	35%	115	200	1 x 200	1	3	2	2	5
11 33 18	6 - Mount Vernon	634 NEWINGTON #2	-	3,163	35%	1,107	1,200	6 x 200	1	4	2	2	6
8 34 19	6 - Mount Vernon	635 WOODLAWN #2	-	2,493	35%	873	1,000	5 x 200	1	4	2	2	6
11 34 19	6 - Mount Vernon	636 LAUREL HILL #2	-	1,542	35%	540	600	3 x 200	1	3	2	2	6

					a. y =				7 11100011011					
				Jun 2019	Active									
				In-Person	Reg	Ballot	% of Reg	Ballot		Ballot	Poll	Express	DS200	Election
CD SEN HOD	DISTRICT	PCT	PRECINCT	Turnout %	Voters	Order %	Voters	Order	Ballot Packs	Boxes	Pads	Votes	Scanners	Officers
11 37 11	7 - Providence	701 BLAKE		12.5%	4,618	30%	1,385	1,400	7 x 200	2	4	2	2	7
11 37 12	7 - Providence	704 FREEDO	M HILL	10.9%	2,414	30%	724	800	4 x 200	1	4	2	2	6
8 37 13	7 - Providence	705 GRAHAI	M-GREENWAY	16.7%	3,586	35%	1,255	1,400	7 x 200	2	4	2	2	7
11 35 12	7 - Providence	707 MANTU	Α	16.0%	2,344	35%	820	1,000	5 x 200	1	4	2	2	6
8 37 13	7 - Providence	708 MARSH	ALL	12.5%	4,823	30%	1,447	1,600	8 x 200	2	4	2	2	7
11 37 11	7 - Providence	709 MOSBY	#1	8.8%	2,527	30%	758	800	4 x 200	1	4	2	2	6
8 37 13	7 - Providence	710 PINE SP	RING	13.1%	2,268	30%	680	800	4 x 200	1	4	2	2	6
11 35 12	7 - Providence	711 PRICE		11.6%	2,119	30%	636	800	4 x 200	1	4	2	2	6
8 37 13	7 - Providence	712 SHREVE		19.1%	1,486	35%	520	600	3 x 200	1	3	2	2	6
8 37 13	7 - Providence	713 TIMBER	LANE	13.5%	3,291	30%	987	1,000	5 x 200	1	4	2	2	6
11 37 12	7 - Providence	714 WALKEF	₹	8.5%	3,705	30%	1,112	1,200	6 x 200	1	4	2	2	7
11 35 12	7 - Providence	718 PINE RII	DGE	9.5%	2,467	30%	740	800	4 x 200	1	4	2	2	6
11 37 12	7 - Providence	720 THOREA	<b>NU</b>	16.1%	2,928	35%	1,025	1,200	6 x 200	1	4	2	2	6
11 37 12	7 - Providence	721 MERRIF	IELD	6.5%	3,944	30%	1,183	1,200	6 x 200	1	4	2	2	7
11 37 13	7 - Providence	723 GALLOV	VS EAST	6.6%	2,333	30%	700	800	4 x 200	1	4	2	2	6
11 37 12	7 - Providence	726 MAGAR	ITY	6.5%	4,288	30%	1,286	1,400	7 x 200	2	4	2	2	7
11 37 11	7 - Providence	727 OAKTOI	N	12.7%	2,576	30%	773	800	4 x 200	1	4	2	2	6
11 37 12	7 - Providence	729 NOTTO\	WAY	11.6%	3,605	30%	1,082	1,200	6 x 200	1	4	2	2	7
11 37 12	7 - Providence	731 TYSONS		3.0%	2,340	30%	702	800	4 x 200	1	4	2	2	6
11 37 11	7 - Providence	732 OAKTRE	E CROSSING	10.4%	3,858	30%	1,157	1,200	6 x 200	1	4	2	2	7
11 37 12	7 - Providence	733 KILMER		9.1%	4,356	30%	1,307	1,400	7 x 200	2	4	2	2	7
11 37 11	7 - Providence	734 HUNTER	RS BRANCH	9.9%	2,696	30%	809	800	4 x 200	1	4	2	2	6
11 37 12	7 - Providence	735 ROTONI	DA	11.3%	1,364	30%	409	400	2 x 200	1	3	2	2	6
11 35 14	7 - Providence	736 BEDFOR	RD	-	647	35%	226	400	2 x 200	1	3	2	2	5
11 37 12	7 - Providence	737 MOSBY	#2	-	1,061	35%	371	400	2 x 200	1	3	2	2	6
11 37 12	7 - Providence	738 JONES B	BRANCH	-	1,992	35%	697	800	4 x 200	1	3	2	2	6

			Jun 2019	Active	Dellet	0/ of Door	Dellet		Dellet	Dell	F	DC300	Floation
CD SEN HOD	DISTRICT	PCT PRECINCT	In-Person Turnout %	Reg Voters	Ballot Order %	% of Reg Voters	Ballot Order	Ballot Packs	Ballot Boxes	Poll Pads	Express Votes	DS200 Scanners	Election Officers
11 35 18	8 - Springfield	801 BURKE #1	6.1%	2,701	30%	810	800	4 x 200	1	4	2	2	6
11 36 9	8 - Springfield	802 CEDAR LAKE	3.4%	1,540	30%	462	600	3 x 200	1	3	2	2	6
10 36 10	8 - Springfield	803 CLIFTON SOUTH	10.2%	2,533	30%	760	800	4 x 200	1	4	2	2	6
11 36 10	8 - Springfield	804 COLCHESTER	8.8%	1,880	30%	564	600	3 x 200	1	3	2	2	6
11 36 10	8 - Springfield	805 FAIRFAX STATION	10.6%	1,613	30%	484	600	3 x 200	1	3	2	2	6
11 33 18	8 - Springfield	806 SYDENSTRICKER	8.7%	3,198	30%	959	1,000	5 x 200	1	4	2	2	6
11 33 15	8 - Springfield	807 HUNT VALLEY	10.1%	2,327	30%	698	800	4 x 200	1	4	2	2	6
11 33 15	8 - Springfield	811 POHICK	6.0%	2,082	30%	625	800	4 x 200	1	4	2	2	6
11 35 18	8 - Springfield	812 VALLEY	8.8%	2,932	30%	880	1,000	5 x 200	1	4	2	2	6
10 33 10	8 - Springfield	815 WOODYARD	8.1%	1,597	30%	479	600	3 x 200	1	3	2	2	6
11 33 15	8 - Springfield	824 ORANGE	7.8%	3,934	30%	1,180	1,200	6 x 200	1	4	2	2	7
11 33 15	8 - Springfield	825 CHERRY RUN	8.8%	2,822	30%	847	1,000	5 x 200	1	4	2	2	6
11 33 15	8 - Springfield	833 WHITE OAKS	6.2%	3,154	30%	946	1,000	5 x 200	1	4	2	2	6
11 33 15	8 - Springfield	838 SANGSTER	8.7%	2,299	30%	690	800	4 x 200	1	4	2	2	6
11 33 15	8 - Springfield	839 SILVERBROOK	7.6%	3,577	30%	1,073	1,200	6 x 200	1	4	2	2	7
11 36 10	8 - Springfield	841 POPES HEAD	8.7%	1,600	30%	480	600	3 x 200	1	3	2	2	6
11 33 15	8 - Springfield	842 PARKWAY	7.8%	2,345	30%	704	800	4 x 200	1	4	2	2	6
11 36 9	8 - Springfield	843 FAIR LAKES	6.1%	3,325	30%	998	1,000	5 x 200	1	4	2	2	6
11 36 11	8 - Springfield	844 CENTERPOINTE	4.5%	3,140	30%	942	1,000	5 x 200	1	4	2	2	6
11 33 15	8 - Springfield	845 FOUNTAINHEAD	7.2%	3,739	30%	1,122	1,200	6 x 200	1	4	2	2	7
11 36 9	8 - Springfield	846 GREENBRIAR EAST	4.7%	3,546	30%	1,064	1,200	6 x 200	1	4	2	2	7
11 36 9	8 - Springfield	847 GREENBRIAR WEST	7.7%	2,384	30%	715	800	4 x 200	1	4	2	2	6
11 36 9	8 - Springfield	848 FAIR OAKS	2.8%	4,169	30%	1,251	1,400	7 x 200	2	4	2	2	7
11 36 10	8 - Springfield	849 NEWGATE NORTH	7.4%	2,786	30%	836	1,000	5 x 200	1	4	2	2	6
11 33 15	8 - Springfield	850 SOUTH RUN	8.3%	2,912	30%	874	1,000	5 x 200	1	4	2	2	6
11 36 10	8 - Springfield	851 WILLOW SPRINGS #1	5.8%	1,196	30%	359	400	2 x 200	1	3	2	2	6
11 36 10	8 - Springfield	854 NEWGATE SOUTH	-	2,921	35%	1,022	1,200	6 x 200	1	4	2	2	6
11 34 18	8 - Springfield	855 SARATOGA	-	3,627	35%	1,269	1,400	7 x 200	2	4	2	2	7
11 36 11	8 - Springfield	856 PENDERBROOK	-	3,619	35%	1,267	1,400	7 x 200	2	4	2	2	7
11 37 11	8 - Springfield	857 ISLAND POND	-	176	35%	62	200	1 x 200	1	3	2	2	5
10 36 10	8 - Springfield	858 CLIFTON TOWN	-	184	35%	64	200	1 x 200	1	3	2	2	5
10 36 10	8 - Springfield	859 LIBERTY	-	2,138	35%	748	800	4 x 200	1	4	2	2	6
10 33 15	8 - Springfield	860 SANDY RUN	-	1,204	35%	421	600	3 x 200	1	3	2	2	6
11 35 15	8 - Springfield	861 BURKE #2	-	2,228	35%	780	800	4 x 200	1	4	2	2	6
10 36 10	8 - Springfield	862 WILLOW SPRINGS #2	-	1,685	35%	590	600	3 x 200	1	3	2	2	6

				1110 20, 2020 1 1	u. y =		1001110111		Anooution					
				Jun 2019	Active									
				In-Person	Reg	Ballot	% of Reg	Ballot		Ballot	Poll	Express	DS200	Election
CD SEN HOD	DISTRICT	PCT	PRECINCT	Turnout %	Voters	Order %	Voters	Order	<b>Ballot Packs</b>	Boxes	Pads	Votes	Scanners	Officers
11 36 10	9 - Sully	901	CENTRE RIDGE	3.4%	3,519	30%	1,056	1,200	6 x 200	1	4	2	2	7
11 36 9	9 - Sully	902	BROOKFIELD	4.8%	4,332	30%	1,300	1,400	7 x 200	2	4	2	2	7
11 36 9	9 - Sully	903	CUB RUN	6.9%	4,452	30%	1,336	1,400	7 x 200	2	4	2	2	7
11 36 9	9 - Sully	904	STONECROFT	4.4%	1,754	30%	526	600	3 x 200	1	3	2	2	6
11 36 8	9 - Sully	905	FRANKLIN	10.8%	2,734	30%	820	1,000	5 x 200	1	4	2	2	6
11 36 8	9 - Sully	908	HIDDEN MEADOW	7.3%	2,316	30%	695	800	4 x 200	1	4	2	2	6
11 36 8	9 - Sully	909	OAK HILL	7.4%	2,117	30%	635	800	4 x 200	1	4	2	2	6
11 36 9	9 - Sully	910	LONDON TOWNE	3.9%	4,156	30%	1,247	1,400	7 x 200	2	4	2	2	7
11 36 8	9 - Sully	911	NAVY	5.7%	4,047	30%	1,214	1,200	6 x 200	1	4	2	2	7
11 36 9	9 - Sully	913	ROCKY RUN	6.1%	4,647	30%	1,394	1,400	7 x 200	2	4	2	2	7
11 37 7	9 - Sully	914	VALE	8.9%	2,679	30%	804	800	4 x 200	1	4	2	2	6
10 36 9	9 - Sully	915	VIRGINIA RUN	6.4%	2,858	30%	857	1,000	5 x 200	1	4	2	2	6
11 37 7	9 - Sully	916	WAPLES MILL	8.8%	4,387	30%	1,316	1,400	7 x 200	2	4	2	2	7
11 36 9	9 - Sully	917	STONE	4.2%	3,897	30%	1,169	1,200	6 x 200	1	4	2	2	7
11 36 10	9 - Sully	918	CENTREVILLE	4.3%	4,784	30%	1,435	1,600	8 x 200	2	4	2	2	7
11 36 10	9 - Sully	919	GREEN TRAILS	4.3%	4,490	30%	1,347	1,400	7 x 200	2	4	2	2	7
11 36 8	9 - Sully	920	CHANTILLY	3.6%	2,290	30%	687	800	4 x 200	1	4	2	2	6
11 36 9	9 - Sully	921	DEER PARK	5.6%	3,403	30%	1,021	1,200	6 x 200	1	4	2	2	6
10 36 9	9 - Sully	923	BULL RUN	6.5%	2,681	30%	804	800	4 x 200	1	4	2	2	6
11 36 10	9 - Sully	924	SPINDLE	4.0%	2,266	30%	680	800	4 x 200	1	4	2	2	6
11 36 10	9 - Sully	925	OLD MILL	5.2%	1,924	30%	577	600	3 x 200	1	3	2	2	6
11 36 10	9 - Sully	926	POWELL	2.7%	4,591	30%	1,377	1,400	7 x 200	2	4	2	2	7
11 36 9	9 - Sully	927	ARMFIELD	4.7%	3,074	30%	922	1,000	5 x 200	1	4	2	2	6
11 36 9	9 - Sully	928	POPLAR TREE	6.7%	2,913	30%	874	1,000	5 x 200	1	4	2	2	6
11 37 11	9 - Sully	929	DIFFICULT RUN	13.2%	561	30%	168	200	1 x 200	1	3	2	2	5
11 36 8	9 - Sully	931	CARSON	6.0%	2,197	30%	659	800	4 x 200	1	4	2	2	6
11 36 9	9 - Sully	934	FOX VALLEY	-	1,411	35%	494	600	3 x 200	1	3	2	2	6
11 36 9	9 - Sully	935	ROBINSON MILL	-	877	35%	307	400	2 x 200	1	3	2	2	5

June 20, 2023 Primary Election - Precinct Resource Allocation

CD SEN HOD	DISTRICT	РСТ	PRECINCT	Jun 2019 In-Person Turnout %	Active Reg Voters	Ballot Order %	% of Reg Voters	Ballot Order	Ballot Packs	Ballot Boxes	Poll Pads	Express Votes	DS200 Scanners	Election Officers
		265	TOTALS	9%	714,533	31%	219,647	241,800	1209 x 200	298	996	530	530	1,700
	100s	29	1 - Braddock	10.2%	80,347	31%	24,722	27,000	135 x 200	35	107	58	58	183
	200s	32	2 - Hunter Mill	10.4%	88,368	32%	27,691	29,800	149 x 200	38	117	64	64	202
	300s	28	3 - Dranesville	9.2%	82,478	30%	24,743	27,600	138 x 200	31	109	56	56	177
	400s	27	4 - Lee	8.6%	74,521	31%	22,846	24,600	123 x 200	29	103	54	54	168
	500s	30	5 - Mason	11.4%	67,497	32%	20,996	23,600	118 x 200	30	109	60	60	181
	600s	30	6 - Mount Vernon	6.7%	75,216	31%	23,112	25,600	128 x 200	30	115	60	60	183
	700s	26	7 - Providence	9.9%	73,636	31%	22,793	25,000	125 x 200	31	99	52	52	164
	800s	35	8 - Springfield	5.5%	87,113	31%	27,023	30,400	152 x 200	38	130	70	70	215
	900s	28	9 - Sully	5.6%	85,357	30%	25,722	28,200	141 x 200	36	107	56	56	177
	8th CD	82	8	10.4%	210,502	31%	64,285	71,200	356 x 200	87	309	164	164	504
	10th CD	8	10	3.9%	14,880	33%	4,725	5,400	27 x 200	8	28	16	16	47
	11th CD	175	11	7.9%	489,151	31%	150,637	165,200	826 x 200	203	659	350	350	1,099
	ALL	265	<>	8.5%	714,533	31%	219,647	241,800	1209 x 200	298	996	530	530	1,700

#### Jun 2023 ballot order

- 30% minimum for all precincts (average turnout in 2019: 9%)
- 35% for precincts with 15%+ turnout two years ago
- 35% for precincts that are new and have no historical turnout data
- 40% for precincts with highest turnout (426, 502)

#### **Election officer targets**

- 5 election officers for up to 1,000 active registered voters
- 6 election officers for up to 3,500 active registered voters
- 7 election officers for up to 6,000 active registered voters

#### Historical election day turnout

- Jun 2022 (D): Average 5% (range 2% to 12%)
- Jun 2021 (D): Average 9% (range 1% to 22%)
- Jun 2020 (R): Average 3.5% (range 1% to 10%)
- Jun 2020 (D): Average 5% (range 2% to 9%)
- Jun 2019 (D): Average 9% (range 2% to 26%)

Days open before election day	Satellite	Jun 2021 Turnout	Jun 2021 Turnout %	Blank ballot paper for BOD	Poll Pads	BOD printers	Mobile hotspots	DS200 Scanners	Express Votes	Admin Tablets	Daily EOs
45	Fairfax County Government Center	2,527	0.3%	4,800	4	3	1	3	2	1	6 to 8
45	Mount Vernon Government Center	1,256	0.2%	3,600	4	3	1	3	2	1	6 to 8
45	North County Government Center	1,553	0.2%	3,600	4	3	1	3	2	1	6 to 8
10	Burke Centre Library	314	0.0%	1,200	4	3	1	2	2	1	6 to 8
10	Centreville Regional Library	177	0.0%	1,200	4	3	1	2	2	1	6 to 8
10	Franconia Government Center	540	0.1%	1,200	4	3	1	2	2	1	6 to 8
10	Great Falls Library	265	0.0%	1,200	4	3	1	2	2	1	6 to 8
10	Herndon Fortnightly Library	618	0.1%	1,200	4	3	1	2	2	1	6 to 8
10	Lorton Community Center	98	0.0%	1,200	4	3	1	2	2	1	6 to 8
10	Mason Governmental Center	928	0.1%	2,400	4	3	1	2	2	1	6 to 8
10	McLean Governmental Center	750	0.1%	2,400	4	3	1	2	2	1	6 to 8
10	Providence Community Center	496	0.1%	1,200	4	3	1	2	2	1	6 to 8
10	Sully Governmental Center	203	0.0%	1,200	4	3	1	2	2	1	6 to 8
10	Thomas Jefferson Library	213	0.0%	1,200	4	3	1	2	2	1	6 to 8
10	Tysons-Pimmit Regional Library	369	0.1%	1,200	4	3	1	2	2	1	6 to 8
10	West Springfield Governmental Center	617	0.1%	1,200	4	3	1	2	2	1	6 to 8
-	Backups at Fairfax County Govt Center	-	-	30,000	-	3	3	3	10	3	-
-	Training	-	-	-	25	2	2	2	2	12	-
	TOTALS	10,924	1.5%	60,000	89	53	21	40	44	31	96